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Instructions  © 1) Check the question paper for fairness of printing. If there is
any lack of fairness, inform the hall supervisor immediately.

2}  Only blue or black ink must be used to write and underiine.
Pencil can be used to draw the diagrams.

ugd = 1/ Parl -1
mwaliny: (1) syswargg alarrdsgmasic allmiwef&sayis, 15 x1=15
(i) SerBsscon L mrevg el sl Wsah byl el i s
GaihblsHhdg i Hdar aflmo almenun Goigs mupsay.
Mate: (i) Answer all the questions. 15 x1=15

i} Choose the most suitable answer from the given four
alternatives and  write the option code with the corresponding
answer,

1. v e sobsmons Barawe GUHEnd o uliFulsr e smasar Filhs wa
o smEsmad Saram. Frd o ulflsaer o gardwsd Darrevdierde ml
k. Bogpen sramiuGAng.
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Flasmotomy is the division of multinucleated parent into many

multinucleate daughter cell with the division of nuclei. This is common
- R —

al Noctiluca b} Opalina

¢} Sea ancmones d) Archaeocytes

d. suEluTorg L S B TS E S
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o) @mrasreri e afgg Srd &) o e ailfai Glaa

(@) swSluiie G rEsmeatiaib ) el gl EFdilEar
Spermatids are produce from
a) Secondary spermatocyte b) Primary spermatocyte
c] Spermatogonivm dj Spermatocytes
3. rafiCwalnmraran o yarsgn EETics srrah a7
&) Fendlaufwr s EarrGw o) yAGurafior urefu i
&) Sapiuay bl s ) e rEarBwramraie o eflarrailay
Which microbes cause syphilis ?
a) Melsseria gomorthoeas b Treponema pollidium
c] Herpes simplex d] Trichomonas vaginalis
4. Brawd Suplprésalar Frgs awemsyn AB-wrs  Fimsmn Surgps
Fhzgl sofldr MrEs wans aaaamanrs Fmes gog ue?
=) AB w0 b ) A B whgne AB
&) AB, AB whpui O #) A wmgnn B wl G
What can be the blood group of offspring when both parents have AB
blood groug?
a) AB only b) A, B and AB
cj A, B, AB and O d) A and B only
5. pser pEeflad Sommer s shrpfluniod . Ser rar
=) AAA ay| GGG
&) Uy %) TTT
The first codon to be deciphered was
a) AAA by GGG
o} UUU d) TTT

6. walg Fagfer ullsrmudSsrHn deasafar £50pr4s aflasurag
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)
&)

)

el r@urlisdsm « rrerdgdss - CanrGurBsodwarey - Banv@wor
anTLilef e
SanrGurarac o + GaprGuoranmilafla- SanrBurEsnfuare
rrorfifsau-CGanrIurgnniadar - Spordurarsc s - Saprfur
Ewinlwersy
el rlariggsa - rrendgdeam - Saorur arscsv - CaprduwT
anr lafsv BanrBuor Gedn Doy

The most accepted line of descent in human evolution is

al
bj

Australopithecus — Ramapithecus — Homo sapiens -+ Homohabilis
Homo erectus -+ Homo habilis — Homo sapicna
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¢} Ramapithecus — Homo habilis — Homo erectus — Homo sapiens
d) Australopithecus —Ramapithecus —Homo erectus —Homohabilis —

[

10.

Homo sapiens,

perm e Bsrsallsar arjimss synfulld sturar aflensyan Tl

) sEflau G swansSan § F euBurdsT Gamufl G SalfiC G rmre &
&) smenatlan B 2 sedlaol G 3 Sadl G rasl§ < e GurSem Ermraild G
@) Exll B rens P smdlav i = crdurBre Ssrull® 3 eeenablaerc
) Eafll G rans B > smenablar [ —» seflsol§ suGurCrs Ssmull®
Which one is right sequence for lifecycle of Anopheles mosquito P

a) Oocyat - ookinete - sporozoites —* gamatocyte
bl Ookinete < oocyst 2 gametocyte =» sporozoites
c) Gamatocyte = oocyst < sporozoites = cokinete
d} Gamatocyte - ookinete < oocyst < sporozoites

Spssramuahnidr as FwsFrraBug i’

) Ber3arramas (i 20) & Brralafir
®) smlssur blea ) sl BT en s (j)
Which of the following is not a macrophage?

a) Monocyte b} Microglia

¢} Kupffer cell d) Lymphocyte

arppon =55 Sefdurafls o Hudfl Feiecufn gy sssTrerg)
) (FEERaT, i AF T uhn AN rmeT Fveniig

) snan regesr saenuiF, WESHST HIDh FEOUT P S Aena
@) mand ygpdr sdmuf), nplrmar whnpun BHEaar

F) FaSgar, mand yapdr sdsuf whmih sTFUST L a4 Fama ),
The gases produced in anaerobic sludge digesters are

a) Methane, oxygen and hydrogen sulphide.

b} Hydrogen sulphide, methane and sulphur dioxide,

o] Hydrogen sulphide, nitrogen and methane.
d} Methane, hydrogen sulphide and COx.

Lipssrgmi ahs Hiergpuif Gs i hHraasala Ao il cayeflan) i aRel iy o
crarL B Ear g ?

E L _nBLdldvatant Lata s ¢} Gl el #piiesrin

@) apsroutgdlaba g =) rBsrusy mps s

Which one of the microorganism is used for production of citric acid in
industries?

a) Lactobacillus bulgaricus b} Penicillium citrinum

) Aspergillus niger d} Rhizopus nigricans
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11.

12,

13.

14.

SEOLAulD goug TErpEs o alifiss wrnmrs Serpysd eoullfallsr L fs
LwrerL B SO Fdaarg syenpd s,

=) BIOGRNLRE WNIEFEmE &5 F s

) gEFanss iUl L wgGsiima & HOLF s

&) . seh e FEOAwr

) A s Ter BELFEe,

Vaccines that use components of a pathogenic organism rather than
the whole organism are called '

a) Bubunit recombinant vaccines

b) Attenuated recombinant vaccines

c] DNA vaccines
d} conventional vaceines.,

P gl urinfa surgd s wllPartsaflsr saimanfldms

) (Bl diaa L sy g B} Flomdmr L auartss
&) #rpms shmsmips ) Elewrdma o (1 uraus
The number of individuals per unit area is known as

a) pepulation density © b) population growth

¢} community ecology d) population dispersion

e uiflordisaflar Ao o e Glavafluil FHarar @nauent

) WWF ) IUCN @ Zsl =) UNEP
The organization which published the red list of specics is
a) WWF by TUCN o] Z51 d] UNEP

L O VTR TAI Y F 3 773 srrewsshme Surmisorar el ullemorg
B f S EGES

fDmr Gy nsria g Deaila Wawayld  SOINF@EPE  marenuwne,
e uiiflendsmaflsr £Hianorsss DI UUAMNSS SETEOWE® ST ESWTE
B GiTE T,

ATTEL UmakE SToon, U Sale S, FTULELD D pefld sran

TDAGMDU Bmel L, & 65ESETS0)D o drar e,

) FDmy wHDID &1 rewin Boaw® &1 wHmin sryeens S funn  Fflwrs
el 5 8 10 )

) F Dy whHnD STy Frahrn &F searTi srrewin S ey Ffluirs
allenfmaflsben a,
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15.

@) Sapy F7 , HLETTE 0T SR
] S bimy mmpil srreawn @ rawREn Ssumn.

For the given assertion and reason identity the suitable answer

Assertion: The Environmental conditions of the tropics are favourable
for speciation and diversity of organisms,

Reason: The climate seasons, temperature, humidity and
photoperiod are more or less stable and congenial.

a) Both Assertion and Reason are true and Reason explains
Assertion correcthy. P
bj Both Assertion and Reason are true but Reason is not the
correct explanation of Assertion.
e} Assertion is true , but Eeason is false,
d) Both Assertion and Reason are false.

S whHiph uEher Gerss b wennd g ol ngr srSarafld,
B} ST LHITE S0

o) Ban’apwrRuaimser

@) paAstsraadaallar £ alenarass

w)  ulls mennis saral Fa3w Blohs el @mser &l mer.
The population of eagles and hawks is declining because of,

a) Food scarcity

b) Game lovers

¢} Harmful effects of pesticides

d] Very lew dead animals are found in ficlds

umgl —I1 | PART-II

sramauBuwigni g s arrssensms afmowallkaapn. alanr g, 2445

sl rmors alemowefl&sayn. gablans allarmal D 2 gl bu e ser

sillsme 30 aur i Gsmg s amd s s §mss Ganssar b
Angwer any gix of the followang

Duestion Mo 24 15 compulsory,
Each gquestion carries 2 marks. Angwer in about 30 words.

16.

Elaafl s smaymsa) men Gugin s wilferdsel & syfls et S sl
Faresdss EeromalssiuFAarmear, e’

Why do gametes produced in large numbers in organisms which exhibit
external fertilisation?

1T . wellg s svalibsy Bl &y mss sraailsn 5HES00F S ng.7

How is polyspermy avoided in humans?
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18. ar_mad Srlann sr@rnrid sreTer
What is Surrogacy?

19, GagruBsgis: Lrks Sewsorhpgrda s ulf afF Gursl st whpin
@mnhEs SruaThngydie o uli st Surml ser.
Differentiate broad spectrum antibiotics and narrow spectrum
antibiotics.

20, s ufr srglioGlurmer ardli b mer?
What is antibiotic resistances?

21, ln@iﬁ?ﬁ.ﬂkmmﬁ & (e i mqﬁﬁ'gj-ﬁdl -tr-uiu'_g-rc'ﬂ TETET #rﬂ!’ ST ST T T
What are recombinant vaccines?. Explain the types.

22, mmrwgds Hgeeryfuin b s wlfars e,
Define Niche and Guilds

23, arhm wrsuTC g ar wislu apeTETIRS e Ly wellEe,
List out the Sources of air pollation.

24, yemadusiiolarrd) ghumie af eara) s Fo 15
List out the effects of smog.

s — T | PART — 11T

srenan Bwigge gy allewrdspnd s ol wealldsas 6x3~ 18
allgrr srer. 33 &5 &l Twwrs ol afl &y

s alarrallnmn 3wl oGl s

allme. 45 aurigmssanh s Forwod Fmss Caer@io.

Answer any six of the following

Question No.30 is compulsory,
Each question carries 3 marks. Answer in about 45 words.

25, syewsk sy sda [PCOS) uhad o_ardg Ssfhsanan s
What do you know about Poly Cystic Ovary Syndrome [PCOS|?

26. wsOBuhann garefioEure af woon Gusmsetng ahn &mgsm psmn &g

Em e_srrammisa Gles.
Which is the ideal contraceptive for female to delay Pregrancy? Give two
examples
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27. £3yp Gar@asin G urdgSrrSerBare Uppidsa ubd aflardss.

) XXY ) XO

Describe the individuals having following see chromosoemal
abnormalities

a) XXY b) X0

28. gurrar syevwiny i Aprsmloy asor .
Write short notes on Structure of the operon.

29, surphensd Curgrl Lo wpgin Guhens Gsiray Geriurbsmear T 5
Explain Darwinian’s principles of struggle for existence and natural
selection

30, seaursw Snribseer s syillmalss GEran R aemauUbsgls.
Classify viral diseases based on their symptoms.

3. swgssTiy Snrdsd bl Apsioy sesrs.
Write short notes on Autoimmune diseases.

32, flawa Saniu Faggum § e uf Asaflar sogstisi wrepa T
What are the advantages of Eurytherms?

33, o ulfl udamag Searonw wihHp HEET LrgsTOEsST o arer e gbglnsr
s el

List out the General strategies for biodiversity conservation.

gl — IV PART ~ IV

eI sl il w55 0 e e, (5x5=25)
Answer all the qguestions.

34, )T S T Glrdisaflar gerpa ugiy svGlutuol Eer Smaf Fa Jmbg
Saugru B ng. o, darg sraTusmear afl ol is.

al Meiotic division during oogenesis is different from that in
spermatogenesis: Explain how and why?

(mysvargs | or)

&) @EFHurald FarunpoiuGe smssm weapser uhiid s Her aors.
bl Write an essay on various types of birth control methods in India.
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35, ) e s Frss Aadiogn Hmsey Bemi (afSEsrErrfarreauEe rdla
sl T raflan) unal allsuflas,
a} Write short notes on Eryvthroblastosisfoetails.
(csysrargy ! or)
=) kel BwerEsmd o Houm @l wanpaw ailaflEs.
b) Explain the formation of a nucleosome.

36, ) oriallar @ malsar opachfler o o 6 gysmsy, qﬂmﬂsir Sl su D LTI
wamrayl upssn Al oaDia Sappo’ ) elamGany Andamasgrre
ufendlsgmsdarner. Fa rms Frdiudidng? loaigs,

d) Darwin's Finches have evolved into different species  differing in body in
body size beak shape and feeding behavior . What does it reflect explain

(peirevga | OF)
o) FarraSuwry s Sar arpsamss spnd und ongsie.
h) Explain about life cycle of plasmodium

37, ) il G s e ufnl aflordgs.
a) Explain about hymphocytes.
(mpeoagy / o)
) gy wrdHmoo’ e aflaiigssh senra s san, §) il sl b
LosRT T L sWa alam %%,
b} Define transgenic animals and explain their uses,

38, ) wrohan’ Surgd suspssenat GO0 G b ol gs.
a) List out and explain the types of extinction,
{mysvatg { Or)

) sy ssyflagsaoa s soswra FearunHnoudil s afafiss.
b) Explain about the ways of Management of nuclear waste.
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